KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION

CLASS-XII SECOND COMMON PRE BOARD EXAMINATION- 2013-14
Subject: ECONOMICS Time Allotted: 3 hours Maximum Marks: 100
General Instructions:

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each.

3. Questions No.1-5 and 17-21 are very short answer questions carrying one mark each. They are
required to be answered in one sentence each.

4. Questions No.6-10 and 22-26 are short answer questions carrying three marks each. Answers to
them should normally not exceed 60 words each.

5. Questions No.11-13 and 27-29 are also short answer questions carrying 4 marks each. Answer
to them should normally not exceed 70 words each.

6. Questions No.14-16 and 30-32 are long answer questions carrying 6 marks each. Answer to
them should normally not exceed 100 words each.

7. Question Nos.11 and 19 are value based questions.

8. Answers should be brief and to the point and the above word limits should be adhered to as far
as possible.
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SECTION A
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1. Why is the indifference curve convex to the origin?
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2. When will Marginal Revenue be negative?
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3. Define budget line.
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4. How does AFC change as the level of output is increased?
SIS 1 &7 g U 3AE Ra7 @6 W 9ng 9S8 7

Why is demand for water inelastic ?

Distinguish between ‘increase in demand’ and ‘increase in quantity demanded’. 3
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Given below is the cost schedule of a firm. Total fixed cost is Rs.20. Calculate its
marginal cost and total cost at each given level of output.

Output (units) 1 2 3
Average variable cost (Rs.) 1220 15 20
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Price of commodity A is Rs.10 per unit and total revenue at this price is Rs._1 GOQ.
When its price rises by 20 % total revenue increases by Rs.800.Calculate its price
elasticity of supply. k 3
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Explain how the availability of substitutes for a commodity affects its elasticity of
demand. 3
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Explain the law of diminishing marginal utility with the help of a utility schedule. 3

Goods X and Y are substitutes. Explain the effect of fall in price of Y on demand for
X.







